
TGGCAAGCTAGCTTAAGTAACGCCATTTTGCAAGGCATGGAAAAATACATAACTGAGAAT H.M
..........................................C................. H.M
............................................................ H.∆
............................................................ H.∆

AGAGAAGTTCAGATCAAGGTCAGGAACAGATGGAACAGCTGAATATGGGCCAAACAGGAT H.M
............................................................ H.M
.......C---------------------------------------------------- H.∆
.......C---------------------------------------------------- H.∆

ATCTGTGGTAAGCAGTTCCTGCCCCGGCTCAGGGCCAAGAACAGATGGAACAGCTGAATA H.M
............................................................ H.M
------------------------------------------------------------ H.∆
------------------------------------------------------------ H.∆

TGGGCCAAACAGGATATCTGTGGTAAGCAGTTCCTGCCCCGGCTCAGGGCCAAGAACAGA H.M
............................................................ H.M
------------------------------------------------------------ H.∆
------------------------------------------------------------ H.∆

TGGTCCCCAGATGCGGTCCAGCCCTCAGCAGTTTCTAGAGAACCATCAGATGTTTCCAGG H.M
............................................................ H.M
---------------------------------........................... H.∆
---------------------------------........................... H.∆

GTGCCCCAAGGACCTGAAATGACCCTGTGCCTTATTTGAACTAACCAATCAGTTCGCTTC H.M
............................................................ H.M
............................................................ H.∆
............................................................ H.∆

TCGCTTCTGTTCGCGCGCTTCTGCTCCCCGAGCTCAATAAAAGAGCCCACAACCCCTCAC H.M
............................................................ H.M
............................................................ H.∆
............................................................ H.∆

TCGGGGCGCCAGTCTTCCGATAGACTGCGTCGCCCGGGTACCCGTATTCCCAATAAAGCC H.M
............................................................ H.M
....C.........C......T...................................... H.∆
............................................................ H.∆

TCTTGCTGTTTGCA H.M
.............. H.M
.............. H.∆
.............. H.∆
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